Mbl MPON3BOANM BE3OMNMACHOCTb
ID: 34001

Yamaha MT-07

Left side: Right side:

1. Bolt M12x1,25x160 + slider 40/12

2. Bolt M12x1,25x160 + slider 40/12

3. Used the original bolt

4. Used the original bolt

5. Bolt M10x1,25x40 + spacer 16x10x11
6. Bolt M10x1,25x50 + spacer 22x10x20

NEVER LOOSEN ENGINE BOLTS FROM THE LEFT AND RIGHT SIDES AT THE SAME TIME!!!
* Use tightening torques from the table below..

Tightening torques Nm
Connection type
Thread Steel Aluminum
M6 10 6
M8 24 20
M10 48 35
M12 56 45
BHuMHMeE:

Jyrv He rapaHTMpPYHOT MOHYHO 3aLLMTYy MOTOLIMKAA,
a IMLWb CHUXKAKOT BEPOATHOCTb €ro NMoBpeXAeHNA Mpu nageHnax.

Mo Bcem BONpoOCam CBA3aHHbIM C YCTAHOBKOW Hallen NpoayKLmK,
a TaK>Ke C rapaHTUMHbIMUN 06sA3aTeIbCTBaMMU,
obpallanTeck noxanyncra Hanpsamyto B toboe otaeneHme Crazy Iron.
KoHTakTbl 6v>Kannx oTAeNeHNN CMOTPUTE Ha Hallem canTe,

WWW, crazyi ron.ru



